00 10 mwal I ("matrix') - ( A)
10 T3 2 test to determine if all elements are nonzero.
mwall( X]:[O 0] mwall( Y]:[l 0] appVersion( 4]:"0.98.5953.21871"
mwall(""1:matrix", "2 matrix') - ( A, DIM )

test to determine it all elements are nonzero.

DIM = 1 => returns "col NOTall O0°'s
DIM = 2 => returns "row NOTall O's
123
Y=|0 45 1
6 70| mwall( Y , 1)=[0 1 O] mwall( Y | 2)=|0
0
123
Y=|1 45 1
6 7 0| mwati( Y  1)=[1 1 0] mwall Y, 2)=[1
0
123
Y=|1 45 1
6 7 8| mwatt( Y  1)=[1 1 1] mwall Y, 2)=[1
1
123 1
Y=|145 mwall( Y , 1)=[1 1 1] muall( Y ,2)=|1
6 7 8 1
test( Y ,cond )=|for iel .. rows( Y) 123
for jel . .cols(Y) Y=045 mwal I ( Y]=[0 1 0]
if mwaII[Yij]=C 6 70
Yij’="”W"""[ Y | 255 255 25! 1 1 1
else test( Y ,0)=| O 255 25!'test( Y ,1)=|255 1 I
Yij:=255 255 255 0O 1 1 25
Y [1 2 3
v—is 4 5 | mwall( Y]=[1 1 1]
6 7 [2
0 00
mwall( identity( 3),1)=[0 O @hii( identity( 3),2)=|0| identity( 3)=[0 1 0
0 001
01 0 0
Y=[0 4 5 mwa||(Y,1]=[010] mwvall( Y ,2)=|0
07 [2 0
12 3 1
Yy-[00 o | mwall( Y 1)=[0 0 O] mwall( Y, 2)=|0
6 7 [2 1




